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[Time: 2:30 Hours] [ Marks:75] 

Please check whether you have got the right question paper. 

N.B:         1. All questions are compulsory. 
        2. Figure to the right indicate full marks. 
        3. Draw diagrams and charts wherever necessary. 

 

Q.1  Answer any two out of the following three questions. 
a) What do you mean by Transport Management? Explain the various functions of a transport 

manager.  
b) Attempt a comparative analysis of the ‘way’ element of all modes of Transport. 
c) Discuss the ways and means of improving the operating efficiency of railway in India. 

   

15 

Q.2  Answer any two out of the following three questions. 
a) What is transport policy of India? Explain in detail. 
b) What factors are taken into consideration while framing transport policy in urban India? Explain. 
c) Discuss the factors that determine the demand for goods transport.   

 

15 

Q.3  Answer any two out of the following three questions. 
a) Explain the concept of common cost with reference to railways and its influence on pricing of 

railway service.  
b) Analyse the cost structure of Airlines. 
c) What do you mean by discriminatory pricing? Explain. 

 

15 

Q.4  Answer any two out of the following three questions. 
a) Explain the regulation for inter-modal competition in India. 
b) Differentiate between passenger terminal facilities required at railway station, bus station and 

airport. 
c) Explain the components of multi- modal transport system in India. 

 

15 

Q.5  a) State whether are following statements are true or False.   
i) The surface roads are initially Pakka roads. 
ii) Mumbai is a commercially important port which is located at the mouth of the river Hugli. 
iii) 7250 km. is the length of Maharashtra coast. 
iv) Ports play an important role in the coastal and oceanic transport.  
v) The major sea route from India to Europe passes through Suez Canal. 

 
b)    Explain the meaning of the team/abbreviation  
       i)           Stream – ship 
       ii)          Major District Road. 
       iii)         Animal cart 
       iv)         MSRTC 

vi) IWT 
  

c)    Match the following 
A B 

i) Shri harikota  a) Cargo transport company 
ii) Indira Gandhi International  Airport b) Year 1934 
iii) Indian Postal service  c) Year 1854 
iv) The Indian Roads Congress d) Delhi  
v) Deccan 360 e) Satellite  

 f) Chennai  
 g) Air India Express. 
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[वळे: २:३० तास] [ गणु: ७५] 

Please check whether you have got the right question paper. 

सचूना: १. सवव प्रश्न अननवार्व आहते. 

२. उजीकडील दर्वनवलेले अकं पूणव गणु दर्वनवतात  

३. आवश्र्क तेथे आकृत्र्ा व तके्त काढा. 

 

प्र.१  खालील नदलेल्र्ा तीन प्रश्नांपैकी दोन प्रश्न सोडवा. 

अ) परिवहन व्र्वस्थापन म्हणज ेकार्? परिवहन व्र्वस्थापकाची नवनवध कार्व स्पष्ट किा. 

ब) परिवहनाच्र्ा सवव प्रकािामधील मागव मलुतत्त्व ेतुलनात्मक नवशे्लषण किा. 

क) भाितीर् िेल्वचेी परिचालन क्षमता सधुािणाच्र्ा दृष्टीने कोणते मागव व साधने उपर्कु्त ठितील र्ानवषर्ी चचाव 

किा. 

 

१५ 

प्र.२  खालील नदलेल्र्ा तीन प्रश्नांपैकी दोन प्रश्न सोडवा. 

अ) भािताचे परिवहन धोिण कार् आह,े ते स्पष्ट किा. 

ब) र्हिी परिवहन धोिण किताना कोणत्र्ा गोष्टी लक्षांत घेतल्र्ा जातात ते स्पष्ट किा. 

क) मालवाहतकू र्ांची मागणी ननधावरित किणाऱ्र्ा चचाव किा. 

 

१५ 

प्र.३  खालील नदलेल्र्ा तीन प्रश्नांपैकी दोन प्रश्न सोडवा. 

अ) िेल्व ेपरिवहन कंपनीच्र्ा व्र्र् संिचनेनवषर्ी चचाव किा. त्र्ासाठी अथव सहाय्र् आवश्र्क आह.े असे तमु्हाला 

वाटते का? 

ब) नवमान सेवचे्र्ा व्र्र् संिचनेनवषर्ी नवशे्लषण किा. 

क) भदेाभदेी नकंमत म्हणज ेकार्? ते स्पष्ट किा. 

 

१५ 

प्र.४  खालील नदलेल्र्ा तीन प्रश्नांपैकी दोन प्रश्न सोडवा. 

अ) आतंिसाधन स्पधाव नवननर्मन स्पष्ट किा. 

ब) िेल्व ेस्थानक, बस स्थानक आनण नवमानतळ र्ांच्र्ा अनंतम स्थानकांविील प्रवार्ांच्र्ा सोर्ीमधील भदे     

    स्पष्ट किा. 

क) भाितीर् बहुसाधन परिवहन प्रणालीचे घटक स्पष्ट किा. 

 

 

प्र.५  अ) खालील, नवधाने चकू नक बिोबि ते सांगा. 

१) जमीन सापाटीचे िस्ते ह ेप्राथनमकपण ेपक्के िस्ते असतात. 

२) मुबंई ह ेव्र्ापािी दृष्टर्ा महत्वाचे र्हि हुगली नदीच्र्ा नकनािी आह.े 

३) महािाष्ट्राच्र्ा नकनाऱ्र्ाची लांबी ७२५० नक.मी आह.े 

४) नकनािी व सागिी दळणवळणात बंदिांना फाि महत्व असते. 

५) सएुझ कालव्र्ातनू मखु्र् समदु्रीमागव भाितातनू र्िुोपात जातो. 
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  ब) खालील संकल्पना व संनक्षप्त र्ब्दाचा अथवबोध सांगा. 

     १) स्रीम – र्ीप 

     २) प्रमखु नजल्हा िस्ते  

     ३) अननमल काटव 

     ४) एम.एस.आि.टी.सी. 

     ५)  आर्. डब्ल ू.टी    

 

क) जोड्र्ा लावा  

‘अ’ गट ‘ब’ गट 

१) श्रीहिीकोटा  अ) कागो रान्सपोटव कंपनी  

२) इनदिा गांधी इटंिनरॅ्नल एअिपोटव       ब) सन १९३४  

३) भाितीर् डाक सेवा क) सन १८५४ 

४) नद इनंडर्न िोडस कांग्रेस        ड) नदल्ली  

५) डेक्कन ३६०  इ)सेटेलाईट 

      फ) चेन्नई  

 ग) एअि इनंडर्ा एक्सप्रेस  
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